H302 Smart Lock

Parameters Parts Exploded Views Q & A
Model H302
Size  Front W70mmxH155mmxT12mm . . . S, Q: How to use Keypad to Unlock?
Back W71mmxH162mmxT30mm | — ,.fg:\ — A: Enter correct code, press “#” to unlock.
Material Shell tempered glass panel lock body zinc —~— | N o\ —) 8- :
\ 2 Press “¥” to reset your input.
Weight 18 KG (package gross weight) A | oa Jf L\~ l| I
Communication technology Bluetooth4.1ble T -~ L

Front Panel Back Panel Rubber Blanket Steal Plate  Door Latch body Q: HQW to use Keypad to LOCk?
Support system Android 5.0/10S7.0or above
Standby current  =35pA " ) ' A: Long press “#” to lock.
Operating current =200 mA / “‘/
Power supply mode 4 AA /// Q: What is Rubber Blanket used for?

Battery (5) Unlocking time = 1.5 seconds
Key, 2pcs KM, M5x40,2pcs KM, M4 x25 2pcs KM, M4 x25,1pcs KM, M3 x 7, 2pcs

A: Optional blanket for front panel.

Install(Left Open Door) Knob anti-clockwise to unlock

| Q|
O |%_I:Z‘l I O Ii\ |
1 T~ || | | ] e
| b 1 — | | >
= e (|l I ) | | ﬁ
Wﬁfﬁ@m 0 )] mm— | | W'| 0
,s« GM%::% > : = ~ - i @”‘%‘?EJ | |le
- N 7R — Py L .
o K I_,ff “x
| 'Adiust to vertical | | 'Adiust to vertical
H\‘\\ iz | /I\ 1“\\\\ R _I /IA\
H.;x__%__._ | _.______,_,// \/I’ g - ,f 4 g L s
I-h‘-‘_'_""'—--h

e T
| NP | !, i | !. i
rl | | I = | | i 0
st 0 LU e : .
[0, | ==l | | = | 9.
= i | (O) =22 | N .
i | oy 1 Ol |
| | e | | |! |
Adjust t_he kKnob E | Adjust the knob ii 28t [ |
to horizontal | to vertical | i
B -
1 1
= e — _
| Please try turn the knob to unlock and lock Please try turn the knob to unlock and lock
. to ensure the switch works normally - to ensure the switch works normally
|| 0 QP
ae I [ Aaim.
s If you have problem on unlock or lock, s If you have problem on unlock or lock,
please check the knob unlock direction please check the knob unlock direction




App Use

Download Remove Device Multiple User Permissions Unlock Records
Download TuyaSmart before adding device, The device is bound to the account. If you are not the last Relate accounts to enable your tenants or family mem- View electronic unlocking records under different accounts.
register and log in. owner of the device, please ask the last owner to remove it. bers to obtain the permission of app to control the device. Mechanical unlocking is not recorded.
My Home v O @ 1 Selected Done < B1-§FE ; ¢ §1-BFE ;
>z Welcome Home " BIBLE &
.‘\ T s f1N  information
All Devices s
uyaSmart - :
i # Download on the i GET IT ON ) I Tap and Hold
@& AppStore bf' Google Play
Add Device Remote Control(Need tuya bluetooth gateway) Voice Control(Need tuya bluetooth gateway)
Turn on bluetooth then add device. We recommend that you use your own account to add devices. If you do need remote control, you can get a tuya bluet-  Support Alexa, you need the amazon account and the
ooth gateway, add the device to the gateway to control it. amazon voice device for voice control.
My Home v O € < Add Manually ~ AutoScan = Cancel Add Device Done My Home v o © < EMT j'l-i% 7 < Settings < . Ef’f::i% 7 < Settings <
s Yconmtiome 11 Q|| et moosmsisy 2k Mipmliow 6 ﬂ‘ A6 i ’
T . S = 4 Lo -_ B1-BLE e '_ﬁ 51-IE,|_E 2 — Fingerprint Ma... Password Man... Temporary Pas. Fingerprint Ma... Password Man... Temporary Pa: Device Information
THGES N (BLE+WiFI) (Wi-Fi) (Zighee) Device added successfully = SraH LGS } SR EGE . Tap-to-Run anid Automation
- v B1-BLE i @ TUIin RkemOte o ©
Home A F;EEI ﬁ;ﬁ} f;f::; - Remote Unlocking U n O 'C in g O n , Remote Unlockin
::;.:}rl — Ftemcte voice unl.n:fck N | ﬁ , I_%emc:.te voice unllﬂck | O O «
:g:.-._;;ﬂa Eﬂﬂiﬁﬁ Fﬂﬁfﬁﬁp F?;:;:;ip Devices to be added: 1 - Puiomateoctswie? D - 7 Eutﬂmﬂﬂﬂlﬂtrﬁﬁ}lﬁ RemOtp Sl.mre Device
No devices Hesly auto lock delay time set 4s > auto lock dEM@i@& UnlOCk ﬂ ; ;
Security & reate Group
Ejt PPPPP i s Add to home screen
?fu,“jﬂ Q' Nomessages ‘ Y Nomweerages. a Device Update No updates available
&« =u @ || il | S o v @ T S ek e 1 romodoesc
Lock & Unlock Password & Fingerprint
Long press to unlock. Default: Auto lock after Slide to obtain dynamic password. In setting page, set FCC Caution
electronic unlock in 5 sec. fingerprint, pasword and temporary password. his device complies with part 15 of the FCC Rules. Operation is subject to the following two conditions: (1) This device may not
cause harmful interference, and (2) this device must accept any interference received, including interference that may cause un-
< s 2| [ . £ < . 2| [% o 2|« Settings desired operation.
Any Changes or moditications not expressly approved by the party responsible for compliance could void the user's authority to
operate the equipment. | o o |
Note: This equipment has been tested and found to comply with the limits for a Class B digital device, pursuant to part 15 of the
P ;. FCC Rules. These limits are designed to provide reasonable protection against harmtul interference in a residential installation.
, 1 This equipment generates uses and can radiate radio frequency energy and, it not installed and used in accordance with the in-
—— — Remote Unlocking O structions, may cause harmtul interference to radio communications. However, there is no guarantee that interference will not
= Remote voioeunlck occurin a particular installation. If this egmpment does cause harmful interference to radio or television reception, which can be
@ determined by turning the equipment off and on, the user is encouraged to try to correct the interference by one or more of the
automatic lock switch (__) ]COIIOW[ f]g nﬁ easurES: - .
-Reorient or relocate the receiving antenna. |
(_opn ot e ) S s o -Increase the separation between the equipment and receiver. | -
. . emigmion -Connect the equipment into an outlet on a circuit different from that to which the receiver is connected.
volome bekigefanvoloms nousl > -Consult the dealer or an experienced radio/TV technician for help.
*RF warning for Portable device: | | | |
B e D N o e The device has been evaluated to meet general RF exposure requirement. The device can be used in portable exposure condi-
& B @ e & B @ e 8 B @ & B @ ow 5 tion without restriction.



	H302-01
	H302-02

